CS 1043                                                 Program 3                                      Spring   2002
Wainwright

Due Date: Wednesday April 3, 2002 (Wainwright students 9:00am MWF)

                  Thursday    April 4, 2002 (Childress students  6:00pm  TTh)

 The top portion of your program should include comments similar to the following: 

//
AUTHOR:  -- your name goes here, this is very important –

//

//          SECTION (time of your class):     9:00am  or  6:00pm
//

//          PROGRAM 3

//

//
FINAL MODIFICATION DATE:  -- date you turned in the program --

//

//
PURPOSE: -- State what the program is suppose to do --


//

//
REQUIRED INPUT: 

//

//
OUTPUT: 

//

Given an initial principal, write a program called pgm3.java which will print a table of resulting investments from the initial principal over a range of years for several different interest rates.

Your program should prompt the user for three values:

the initial investment,  and the range of interest rates (low rate and the high rate).

Example input might be:

1000.00     (as the initial investment -- Principal amount)

5               (representing the low interest rate of 5%)

10             (representing the high interest rate of 10%)

Your program will calculate and print a table showing the resulting investment amount from the initial principal, for the interest rates from the low rate to the high rate in increments of one, for the fixed years of  5, 10, 15, and 20.

Given the above input, your output should look like the following table:

(where each xxxx.xx is replaced with the proper dollar value to two decimal places)

Be sure to label the table as shown below.

Be sure to include the % symbol and the $ symbol where needed.

                                -- OVER --

    Principal after specified years at various interest rates 

                                      Years

                            5           10           15           20

 Rate    Initial       

         Principal

  5%      $1000.00     $xxxx.xx     $xxxx.xx     $xxxx.xx     $xxxx.xx

  6%      $1000.00     $xxxx.xx     $xxxx.xx     $xxxx.xx     $xxxx.xx

  7%      $1000.00     $xxxx.xx     $xxxx.xx     $xxxx.xx     $xxxx.xx

  8%      $1000.00     $xxxx.xx     $xxxx.xx     $xxxx.xx     $xxxx.xx

  9%      $1000.00     $xxxx.xx     $xxxx.xx     $xxxx.xx     $xxxx.xx

 10%      $1000.00     $xxxx.xx     $xxxx.xx     $xxxx.xx     $xxxx.xx

1. Prompt the user for the values of the initial investment, and the low and high interest rates.

2. Write a function called  Investment that is given three parameters:

a. the initial investment amount, P.

b.  the rate of interest, R, as a decimal (5% becomes .05), and 

c. Y, the number of years of the investment.  

        The function calculates and returns the resulting amount of the investment for the

        given parameters.  Use the following monthly compound interest formula:

                           A = P (1.0 + R/12)12Y

3. Develop a double nested loop to perform the calculations and the printing of the

table of results.  The table of must be lined up in readable columns as shown above.
Execute your program using the example input shown above, and turn in a copy of your program and the output.

